[image: image1.png]In the circuit shown below, the voltage Viss
diodes are identical, and are characterized
unspecified. ! ) :

ut the voliage Vawis fixed at 1 V. The
2540, but the threshold voltage Vi, is

@ When Vss = 10V, it s found. thigg 1= zs 'nmA From this information, find the
threshold voltsge Vu for the-diades..
b) When Vas=2/V, is'found that iy = 3. 78 mA: Fnuhii casé, ﬁnd the state af each diode.

Note that to f e1ve full crecht, youn , ,,,th!t tht state you claim for each diode is
correct. N
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